
 
 
 
 
 
 

      

Number Series and Number System WORK SHEET 
 
 
Squares : (1 to 10)    (11 to 20)  
   102 = 100       202 = 400 
 12 = 1  92 = 81   112 = 121     192 = 361 
 22 = 4  82 = 64   122 = 144   182 = 324 
 32 = 9  72 = 49   132 = 169   172 = 289 
 42 = 16 62 = 36   142 = 196   162 = 256 
 52 = 25     152 = 225    
 
 (21 – 30)  
 212 = 441   302 = 900 
 222 = 484    292 = 841 
 232 = 529   282 = 784 
 242 = 576   272 = 729 
 252 = 625   262 = 676 
 
Cubes : (1 to 15)  

13 = 1     83 = 512 
23 = 8     93 = 729 
33 = 27     103 = 1000 
43 = 64     113 = 1331 
53 = 125    123 = 1728 
63 = 216     133 = 2197 
73 = 343     143 = 2744 

      153 = 3375 
 
Prime numbers (1 to 100) 
1 – 10   → 2, 3, 5, 7     → 4 
11 – 20   → 11, 13, 17, 19     → 4 



21 – 30  → 23, 29     → 2 
31 – 40  → 31, 37      → 2 
41 – 50   → 41, 43, 47    → 3 
51 – 60  → 53, 59     → 2 
61 – 70  → 61, 67     → 2 
71 – 80  → 71, 73, 79    → 3 
81 – 90  → 83, 89     → 2 
91 – 100  → 97      → 1 
 
Co prime numbers (or) relative prime numbers  
 
If the HCF of two numbers is 1 then the numbers are said to be co-primes (or) 
relatively prime.  
 
Twin prime numbers:  
  If there is present only one composite number between them.  
 
Phythagoren Triplet numbers:  
  Let a, b, c are three numbers a2 + b2 = c2 (is a highest number)  
above condition is satisfied, then, a, b, c are called phythagoren triplet numbers.  
 
The number 10100 is called googol (this is, 10 multiplied 100 times)  

The number 10googol = 10 
100

(10 )
10 is called googolplex 

 
Amicable numbers (or) (Friendly numbers)  
 
Consider the numbers 220 & 284  
Sum of the divisions of 220 (excluding 220)  
    = 1 + 2 + 4 + 5 + 10 + 11 + 20 + 22  
    + 44 + 55 + 110 = 284  
sum of the division of 284 (excluding 284)  
  = 1 + 2 + 4 + 71 + 142 = 220 
Thus sum of divisors of one number excluding it self is the other. such pair of 
number called Amicable numbers (or) Friendly numbers.  
Kaprekar number:  
 
The represnstention of its square in that base can be split into two parts where 
the second part has digits, that add to the original numbers.  
    



rhh;gfh vz;fs;: rhh;gfh vz;fs;: rhh;gfh vz;fs;: rhh;gfh vz;fs;:     
  ,U vz;fspd; kP.ngh.t vdpy; mt;ntz;fs; rhh;gfh vz;fshFk;.  
 
,ul;il gfh vz;fs;: ,ul;il gfh vz;fs;: ,ul;il gfh vz;fs;: ,ul;il gfh vz;fs;:     
 
,U gfh vz;fSf;F ,ilNa xU gF vz; ,Ue;jhy; me;j gfh vz;fs; 
,ul;ilg; gfh vz;fshFk;.  
 
    
    
gpjhfu]; %d;wd; njhFjp vz;fs;: gpjhfu]; %d;wd; njhFjp vz;fs;: gpjhfu]; %d;wd; njhFjp vz;fs;: gpjhfu]; %d;wd; njhFjp vz;fs;:     
 
gpjhfu]; Njw;wj;ij epiwT nra;Ak; vz;fs; gpjhfu]; %d;wd; njhFjp 
vz;fshFk;.  
 
,zq;F vz;fs; ,zq;F vz;fs; ,zq;F vz;fs; ,zq;F vz;fs; (or)    el;G vz;fs;: el;G vz;fs;: el;G vz;fs;: el;G vz;fs;:     
    
,U vz;fspd; tFj;jpfspd; $Ljy; me;j vz;iz jtph;j;J kw;nwhU vz;iz 
khwp khwp jUk; vz;fs; ,zq;F vz;fs;.  
 
Nfg;hpfh; vz;fs;: Nfg;hpfh; vz;fs;: Nfg;hpfh; vz;fs;: Nfg;hpfh; vz;fs;:     
    
    xU vz;zpd; th;f;fk; MdJ mtw;iw gphpj;J tUk; th;f;fq;fspd; 
$LjYf;Fr; rkk; vdpy; mt;ntz;fs; Nfg;hpfh; vz;fshFk;.  
 
Divisibility Rules:  
    
Divisibility by 2:   (2 My; tFgl)  

  If an even number (,ul;il vz;)  
Divisibility by 3 :  
  If sum of the digits divided by 3  
  ,yf;fq;fspd; $Ljy; %d;why; tFgl Ntz;Lk;.  
 
Divisibility by 4 :  
  If last two digits are divisible by 4.  
  filrp ,U ,yf;fq;fs; 4 My; tFgl Ntz;Lk;.  
 
Divisibility by 5:  
  If its last digit is either 0 (or) 5  
  filrp ,yf;fk; '0' my;yJ 5y; KbaNtz;Lk;.  
 
Divisibility by 6 :  
  If its divisible by 2 & 3 (,uz;L kw;Wk; %d;why; tFgl Ntz;Lk;) 
 
 



Divisibility by 7 :  
  Cross off last digit double it and subtract. Repeat the process. If new 
  number is divisible by 7, the original number is divided by 7.  
  filrp ,yf;fj;ij ,U klq;fhf;fp kPjKs;s vz;zpy; fopf;f  
  Ntz;Lk;. ,e;j nray; Kiwia kPz;Lk; kPz;Lk; nra;J me;j vz; 7  
  My; tFg;gl;lhy; KO vz;Zk; 7 My; tFgLk;.  
 
Divisibility by 8 :  
  If last 3 digits is divisible by 8. filrp %d;W ,yf;fq;fs; 8 My;  
  tFgl Ntz;Lk;.  
 
Divisibility by 9 :  
  If the sum of all the digits is divisible by 9.  midj;J ,yf;fq;fspd;  
  $Ljy; 9 My; tFgl Ntz;Lk;.  
 
Divisibility by 11:  

I. subtract the unit digit from the remaining number. If new 
number is divisible by 11 (or) new number is zero. The original 
numbers is divided by  

(or)  
II. sum of the odd digits is equall to the sum of the even digits.  
xw;iw ,yf;fj;ij kPjKs;s vz;zpypUe;J fopf;Fk; NghJ me;j vz; 
11 My; tFgLk; vz;zhfNth my;yJ G+[;[pak; te;jhNyh> 
cz;ikahd vz; MdJ 11 My; tFgLk;.  
 

Divisibility by 13:  
 Add 4 times the last digit to the remaining truncated number Repeat the 
step  as necessary. If the result is divisible by 13 the original number is also 
divisible  by 13 same process for 17 & 19.  
 
17 – subtract 5 times the last digit from remaining truncated number.  
19 – Add 2 times the last digit from remaining truncated number  
 
13 My; tFgl: 13 My; tFgl: 13 My; tFgl: 13 My; tFgl:     
filrp ,yf;fj;jpd; 4 klq;fpy; ,Ue;J kPjKs;s vz;izf; $l;l Ntz;Lk;. 
,e;j nray;Kiwia 13 My; me;j vz; tFgLk; njhlu Ntz;Lk;. ekJ tpil 
13 My; tFg;gl;lhy; me;j KO vz;Zk; 13 My; tFgLk;.  
 
,NjNghy nray;Kiwjhd; 17 kw;Wk; 19 f;Fk;.  
 
17 – filrp ,yf;fj;ij 5 klq;fhf;fp kPjKs;s vz;zpy; ,Ue;J fopf;f 
Ntz;Lk;.  
 



19 – filrp ,yf;fj;ij ,U klq;fhf;fp kPjKs;s vz;Zld; $l;l Ntz;Lk;.  
 
,e;j nray;Kiwia me;j vz; tFgLk; tiu KO vz;zpYk; njhlu 
Ntz;Lk;.  

 
1. The missing term of the following sequence is 4, 5, ? 40, 104, 229, 

a. 6  b. 13  c. 14  d. 22 
fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 4, 5, ?, 40, 104, 229, 
a. 6  b. 13  c. 14  d. 22 
 

2. What would be the next term of the sequence 2, 5, 9, 19, 37, ? 
a. 67   b. 76   c. 75   d. 87 
gpd;tUk; njhlhpy; mLj;J tUk; cWg;G vJ 2, 5, 9, 19, 37, ? 
a. 67   b. 76   c. 75   d. 87 
 

3. Given below are two series with specific pattern What will come in the 
plate of (e)? 
fPNo nfhLf;fg;gl;Ls;s> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy;> (e)-
d; kjpg;G fhz;f. 
a. 173   b. 153   c. 171  d. 151 
 

7 13 29 53 113 217 
5 a. b. c. d. (e) 

 
4. Insert the missing number. 

fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 
2, 6, 12, 20, 30, 42, 56 ________. 
a. 62  b. 72  c. 64  d. 68 
 

5. Find the missing number 
fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 

 1, 3, 3, 6, 7, 9, ?, 12, 21 
 a. 10  b. 11  c. 12  d. 13 
 

6. How can we called the following sequence? 
1, 1, 2, 3, 5, 8, 13, 21, 34…. 
a. Ficconabi sequence    b. Finocabci sequence 
c. Fibonacci sequence    d. Finabocci sequence 
vd;w njhlh; thpiria gpd;tUtdtw;Ws; vt;thW miof;fyhk;? 
a. gpNfhdhgp njhlh;thpir   b. gpNdhfhg;rp njhlh;thpir 



c. gpNghdhfp njhlh;thpir   d. gpdhNghfp njhlh;thpir 
 

7. Two series are given below with specific pattern. 
What will come in the place of (e)? 
fPNO nfhLf;fg;gl;l Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy; (e) –d; 
kjpg;G fhz;f. 
 

6 18 36 108 216 648 
2 (a) (b) (c) (d) (e) 

 
a. 482   b. 344   c. 216   d. 420 
 

8. 6, 13, 22, 33, 46,   ?  

a. 62   b. 61   c. 65   d. 60 
 
   

9. 7, 11, 20, 36, 61, (?) 
a. 97   b. 86   c. 99   d. 85 

 
 

10. 5 ,      ?,     15,     75,     525,     4725,    51975, 
a. 6          b. 10         c. 8          d. 5         
  

 

11. 2,    10,   42,    170,   ?,   2730,    10922, 
a. 588   b. 658   c. 596   d. 682  
 

 

12. 19,     26,    40,     68,       124,     (?) 
a. 246   b. 238   c. 236   d. 256  

 

13. The next two term is the sequence 6, 0, 7,6 8,13, 9,21 …… is (mLj;j 
,U cWg;Gfs;)  
a. 10,28  b. 10,29  c. 10,30  d. 10, 40 
 
 

14. The next number in the series(vd;w njhlhpy; mLj;j cWg;G) 
16, 13, 17, 12, 18, 11, 19, 10 ……….is    

a. 9  b. 14   c. 13  d. 20  
 



15. Next term in the sequence 7, 11, 9, 11, 17, 14, 15, 23, 19, …. is  
7, 11, 9, 11, 17, 14, 15, 23, 19, …. y; vd;w njhlhpy; mLj;j vz;  
a. 19. 25, 22 b. 19, 31, 20 c. 19, 29, 24 d. 19, 27, 23 

 
 

 
Wrong number Series  

 
16. Find out the wrong number in the series 

190, 166, 145, 128, 112, 100, 91 
a. 100   b. 166   c. 145  d. 128 
nfhLf;fg;gl;l njhlhpy; mike;j jtwhd vz;izf; fhz;f. 
190, 166, 145, 128, 112, 100, 91 
a. 100   b. 166   c. 145  d. 128 
 

17. Find the odd man out in the following: 1, 5, 14, 30, 50, 91 
a. 5   b. 50   c. 14  d. 91 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
a. 5   b. 50   c. 14  d. 91 
 

18. Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
25, 36, 49, 81, 121, 169, 225 
a. 36   b. 49   c. 169  d. 225 
 

19. Find the wrong number in the series. 
nfhLf;fg;gl;l njhlhpy; mike;j jtwhd vz;izf; fhz;f. 
2, 9, 28, 65, 126, 216, 344 
a. 2   b. 28   c. 65  d. 216 
 

20. Find the wrong number in the series. 
nfhLf;fg;gl;l njhlhpy; mike;j jtwhd vz;izf; fhz;f. 
10, 14, 28, 32, 64, 68, 132 
a. 32   b. 132   c. 14   d. 6 

 

21. The sum of a number and its reciprocal is  
50

7
. Find the numbers. 

a. 5 
1

5
  b. 7, -7  c. 7, 

1

7
   d.  5,- 

1

5
 



Xh; vz; kw;Wk; mjd; jiyfPopapd; $Ljy; 
50

7  
vdpy; mt;ntz;fs; ahit?  

a. 5 
1

5
  b. 7, -7  c. 7, 

1

7
  d.  5,- 

1

5
 

 

22. Which of the following is a prime number? 
a. 241   b. 338   c. 391   d.  575 

 fPo;f;fz;ltw;wpy; vJ gfh vz;? 
a. 241   b. 338   c. 391   d.  575 

 
23. Sum of three consecutive integers is 45, find the integers 

a. 15,16,17  b. 14,15,16   c. 13,14,15  d. 16,17,18 
mLj;jLj;J tUk; %d;W KOf;fspd; $Ljy; 45 vdpy; me;j  
KOf;fisf; fhz;f.  
a. 15,16,17  b. 14,15,16   c. 13,14,15  d. 16,17,18 

 
24. A man ate 100 grapes in 5 days.  Each day, he ate 6 more grapes than those 

he ate on the earlier day. How many grapes did he eat on the first day.  
 a. 8   b. 12   c. 76   d. 54 
xUth; xt;nthU ehSk; Ke;ja ehs; rhg;gpl;l jpuhl;irfspd; 
vz;zpf;ifiatpl 6 jpuhl;irfs; $Ljyhf rhg;gpLfpwhh;. 5 ehl;fspy; 100 
jpuhl;irfs; rhg;gpl;lhy; Kjy; ehs; mth; rhg;gpl;l jpuhl;irfspd; 
vz;zpf;if vd;d?  
a. 8   b. 12   c. 76   d. 54 

 

25. Find the smallest whole number which is exactly divisible by 
1 1 1

1 ,2 ,3
3 4 2

 and 

1
4

5
 

a. 252   b. 154  c. 322   d. 454 
1 1 1

1 ,2 ,3
3 4 2

kw;Wk; 
1

4
5

 vd;w vz;fshy; tFglf;$ba kpfr;rpwpa KO vz; vJ? 

a. 252   b. 154  c. 322   d. 454 
 
26. If A, B, C, D, E are Natural numbers and A + B = C, 2B = E, B + C = D, B + E 

= A 
a. B, E, A, C, D    b. E, B, C, A, D 
c. B, C, E, A, D    d. B, C, E, D, A  
A, B, C, D, E Mfpait ,ay; vz;fs; kw;Wk; A + B = C, 2B = E, B + C = D, B 
+ E = A vdpy; VWthpirapy; vOJf.   
a. B, E, A, C, D    b. E, B, C, A, D 



c. B, C, E, A, D    d. B, C, E, D, A  
 

27. 1. 6
�

 expressed as fraction is 

a. 
16

10
    b. 

16

9
   c. 

5

3
  d. 

4

8  

1. 6
�

 vd;gJ gpdtUgtdtw;Ws; ve;j gpd;dj;Jf;Fr; rkk;?\ 

a. 
16

10
    b. 

16

9
   c. 

5

3
  d. 

4

8  
 
28. Which of the following fraction are the largest? 

 a. 
7

8
   b. 

13

16
    c. 

31

40
   d. 

63

80
  

  
 gpd;tUk; gpd;dq;fspy; vJ kpfg;nghpaJ? 

 a. 
7

8
   b. 

13

16
    c. 

31

40
   d. 

63

80
  

 
29. The product of two consecutive numbers is 4032. Find the numbers 

a. 61, 62   b. 64, 65   c. 63, 64   d. 62, 
63 
,uz;L mLj;jLj;j vz;fspd; ngUf;fy; 4032 vdpy; me;j vz;fis fhz;f. 
a. 61, 62   b. 64, 65  c. 63, 64   d. 62, 63 

 

30. If a2 + b2  = 117 and ab = 54, then find the value of 
a b

a b

+

−

 

a. 5   b. 12/3   c. 7  d. 11/13 

a2 + b2  = 117 kw;Wk; ab = 54 vdpy; 
a b

a b

+

−

 -d; kjpg;G fhz;f. 

a. 5   b. 12/3   c. 7  d. 11/13 
 

31. In a two digit number, the digit in the unit place is twice of the digit in the 
 tenth place. If the digits are reversed, the new number is 27 more 
than the  given number. find the number 
a. 63  b. 36  c. 93  d. 39 
Xh; <hpyf;f vz;zpy;> xd;whk; ,l ,yf;f vz;> gj;jhk; ,l ,yf;f 
vz;izg;Nghy; ,U klq;fhf cs;sJ. ,yf;fq;fs; ,lk; khwpdhy; 
fpilf;Fk; Gjpa vz; nfhLf;fg;gl;l vz;iztpl 27 mjpfk; vdpy; 
nfhLf;fg;gl;l <hpyf;f vz;izf; fz;Lgpbf;f.  
a. 63  b. 36  c. 93  d. 39 
 



32. The students of a class donated ` 4624 for Chief Minister’s State Relief 
Fund.   Each student donated as many rupees as the number of 
students in the class.   Find the number of students in the class. 

 a. 64   b. 68   c. 62   d. 78 
 xU tFg;gpy; cs;s khzth;fs; &. 4624-ia Kjyikr;rhpd; khepy 
epthuz epjpahf nrYj;jpdh;. xt;nthU khztUk; jdJ gq;fhf jdJ 
tFg;gpy; cs;s khzth;fspd; vz;zpf;iff;F rkkhd njhifia 
nfhLj;jdh; vdpy;  tFg;gpy; cs;s khzth;fs; vj;jid Ngh;? 
 a. 64   b. 68   c. 62   d. 78 
 

33. Find the sum: 
1 1 1 1 1

2 6 12 20 30
+ + + +  

1 1 1 1 1 1

42 56 72 90 110 132
+ + + + + +  

 a. 
7

8
  b. 

11

12
   c. 

15

16
   d. 

17

18
 

 $Ljy; fhz;: 
1 1 1 1 1

2 6 12 20 30
+ + + +  

1 1 1 1 1 1

42 56 72 90 110 132
+ + + + + +  

 a. 
7

8
  b. 

11

12
   c. 

15

16
   d. 

17

18  
 

34. A class starts at 10.00 a.m and lasts till 1.27 p.m. Four period are held 
during this interval. After every period, 5 minutes are given free to the 
students. The exact duration of each period is: 

 a. 42 minutes b. 48 minutes c. 51 minutes d. 53 minute 
 xU tFg;ghdJ fhiy 10 kzpf;F njhlq;fg; gl;L 1.27 f;F 
 Kbf;fg;gLfpwJ. ehd;F ghlNtisfs; cs;sJ. xt;nthU ghlNtisf;Fk; 
 ,ilNa 5 epkpl Xa;T khzt khztpfSf;F  nfhLf;fg;gl;lhy; xt;nthU 
 ghlNtisAk; vt;tsT Neuk; ele;jpUf;Fk;? 
 a. 42 epkplq;fs;   b. 48 epkplq;fs;  
 c. 51 epkplq;fs;   d. 53 epkplq;fs;   

 

35. 
1 1 1 1

.........
1 2 2 3 3 4 99 100

+ + +

× × × ×

 

 a. 
98

99
   b. 

100

99
  c. 

99

100
  d. 

100

101  
  


